
9
,
0

N

P

P

(

1

x

4

,
0

+

2

x

0

,
7

5

)

PRIKLJUČEK

javne poti

JP 530441

NPP(1x4,0+2x0,75)

U

V

O

Z

n

a

 
n

j
i
v

o

UVOZ

na njivo

A

=
1
4
4

R

=
3
5
8

A

=

1

4

4

A

=

1

5

4

R

=

I
N

F

R

=

3
9
3

A

=

1
5
4

A
=

1
6
4

R
=

3
9
3

R

=

I
N

F

A

=

1

6

4

A

=

2

7

9

R

=

1
0
0
0

A

=

2
7
9

A
=

3
5
3

R
=

1
0
0
0

R

=

2
4

4
4
2

4
4
3

4
4
4

4
4
5

4

4

6

4

4

7

4

4

8

4

4

9

4

5

0

4

5

1

4
5
2

4
5
3

4
5
4

4
5
5

4
5
6 4
5
7

4

5

8

4

5

9

4

6

0

4

6

1

4

6

2

4

6

3

4
6
4 4

6
5

4
6
6

4
6
7

4
6
8

4
6
9

8
.
9

9

.
0

9
.
1

9

.
2

9
.
3

A

=
1
4
6

R

=
3
5
0

A

=

1

5

6

A

=

1

4

6

R

=

4
0
0

A

=

1
5
6

A
=

1
6
5

R
=

4
0
0

A

=

2

8

0

A

=

1

6

5

R

=

1
0
0
0

A

=

2
8
0

A
=

3
5
0

R
=

1
0
0
0

R
=

IN
F

R
=

IN
F

R

=

I
N

F

R

=

I
N

F

4

3

2

1

0

C

.
P

.
Ø

 
6

0

 
c

m

i
 
=

 
0

,
1

 
%

 
;
 
l
 
=

 
1

2

 
m

,

V

T

.
 
i
n

 
I
Z

T

.
 
G

L

.
 
Ø

 
6

0

 
c

m

jarek levo  L=503 m

ja
re

k
 le

v
o
  L

=
5
0
3

 m

jarek levo  L=503 m

C.P.Ø 60 cm

i = 0,3 % ; l = 13 m,

VT. in IZT. GL. Ø 60 cm

ja
re

k
 le

v
o
  L

=
2
6
8
 m

C

.
P

.
Ø

 
6

0

 
c

m

i
 
=

 
0

,
0

5

 
%

 
;
 
l
 
=

 
1

3

 
m

,

V

T

.
 
i
n

 
I
Z

T

.
 
G

L

.
 
Ø

 
6

0

 
c

m

jarek desno  L=467 m

jarek desno  L=467 m

j
a

r
e

k
 
d

e

s
n

o

 
 
L

=

4

6

7

 
m

ja
re

k
 d

e
s
n
o
  L

=
3
8
3
 m

C.P.Ø 60 cm

i = 0,08 % ; l = 10 m,

VT. in IZT. GL. Ø 60 cm

2
0
.
0
0

4
0
.
0
0

6
0
.
0
0

8
0
.
0
0

0
.
0
0

2

0

.
0

0

4

0

.
0

0

6

0

.
0

0

8

0

.
0

0

0

.
0

0

2

0

.
0

0

4
0
.
0
0

6
0
.
0
0

8
0
.
0
0

0
.
0
0

4
0
.
0
0

6

0

.
0

0

8

0

.
0

0

0

.
0

0

2

0

.
0

0

4

0

.
0

0

6

0

.
0

0

8
0
.
0
0

0
.
0
0

2
0
.
0
0

4
0
.
0
0

6
0
.
0
0

8
0
.
0
0

4
2
.
9
0

6
3
.
3
3

8
3
.
7
6

4
.
2
0

2

4

.
5

8

4

4

.
8

2

6

4

.
9

2

8

4

.
8

8

4

.
7

2

2

4

.
4

3

4
4
.
0
6

6
3
.
6
8

8
3
.
3
1

2
.
9
3

2
2
.
5
6

4
2
.
2
1

6

1

.
9

8

8

1

.
8

5

1

.
8

3

2

1

.
8

6

4

1

.
9

3

6

2

.
0

5

8
2
.
1
9

2
.
3
4

2
2
.
4
9

4
2
.
6
3

6
2
.
7
4

8
2
.
8
3

0

.
0

0

1

0

.
0

0

2

0

.
0

0

3

0

.
0

0

3

6

.
6

4

R

=

4

R

=

4

R

=

6

R

=

6

O

B

S

T

O

J

E

Č

E

S

T

A

N

J

E

u
trje

n
a
 b

e
rm

a
 l=

2
m

UVOZ PREKO

PONIŽANEGA ROBNIKA

PONIŽAN ROBNIK

LEGENDA


